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00 	 Term-End Examination 
"1" 	 June, 2013 O 

BMD-009 : TRAINING IN ADAPTIVE SKILLS AND 
FUNCTIONAL ACADEMICS 

Time : 3 hours 	 Maximum Marks : 45 

Note : (i) 	All the questions are compulsory. 

(ii) Marks are alloted against each question. 

1. 	Write the Full Form of the followings : 
(a) ADLS 
(b) FACP 
(c) IQ 
(d) BASIC - MR 
(e) AAIDD 

1x5=5 

2. 	Write the answer in 1 or 2 sentences : 	2x5=10 
(a) What do you mean by functional 

academics ? 
(b) Mention any two safety skills for a child 

with mental retardation. 
(c) What is lesson plan ? 
(d) Mention recreational skills for a child with 

mild mental retardation who is 8 years of 
age. 

(e) What are the pre-writing skills ? 
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3. 	Write short note on any four : 	 5x4=20 

(a) Functional Literacy 

(b) Sight Word Reading 

(c) Pre - Reading Skills 

(d) Teaching Grooming Activities 

(e) One to one correspondence 

	

4. 	Write the answer of any one in detail : 	1x10=10 
(a) Prepare a lesson plan to teach additions to 

a child with mental retardation. 

(b) What are the various methods to teach 

science to children with mental retardation, 

also write it's importance. 

(c) What are the differences between socially 

acceptable and non acceptable behaviour, 

also discuss the methods to teach socially 

accepted behaviour. 
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1. 	-14-1 	-r14 	: 	 1x5=5 

(a) -R.t.L;(4.V-E. 

(b)  

(c)  

(d)*ft:W-7213-TR 

(e) 

	

2. 	1 ziT 2 cticKii d7R fffr-cg7 : 	 2x5=10 

(a) sw-Iloich fkrRillT -(4 377 qzET TilTe4A ? 

(b) 4-11.&a.) .1:r 	t rc,N 	t TUT tiq-r 

f-ffftf I 

(c) era z117-9-r wqr t? 

(d) 8 014 t 4Thirt-ich 4-irq 	t 

f-fffa- 1 

(e) VITF qzfT 
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5x4=20 

	

3. 	 Ttfki7r fatal ft 	: 

(a) F9hqic4-1 ,4) TIRRUT 

(b) frt 'q-F 7E69 

(c)  

(d) #aR-4 	4qp-ir 

(e) (4,011-ch 

	

4. 	ft7:/?•ch 	fit ITT 	: 10x1=10 

(a) 1-11-Thch 	cb) •71)5ft:173T4 	Lild*-491 

I 

(b) 4-1-q 	ch fd7T9'174 41 	fqfmft 

(c) -11-11,3f 	k-c114,14 	 qzfr 

t,  	4 :1-47-4ail trg4 1,1 NW 

f-fff{gR 
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